ooooon 1990000000000

1990 00o0o0o0oooabp

 YERRERE
i] 0000040000 OABC—PQRSOOODOO ABOOOOo DO P S
0BCoooo E0o CSooono Foo PSOOODD Goo PQOOO Q ' %
0D HooooooOoOOOOOOOOOOO
(1) Dooo OED 30000004, f,¢g00000000d=O0D, oo
f=O0F, ¢g=0G0000 o C
A B

(2) 0D, E,F,G,HOoOooOooOoooOooooooooO
(3) ooo DEFGHOOOoOooOoOoOO

oo
(4) 0BRO3:1000000000 KOooooo KOoooooooOOO DEFGHOOOOOOOOO
gooooood

EQ n,kOODODOOOOO
Tttt trp=n+k—1-0
0000000 x1, Xg, *++, X, 000000 a(n, k) 0000000000000 000000O0OO
(1, 22)=(01,2)0 (x1,29)=(2,1) 0000000000
(1) 0 ®oooo z2,00000000000000
2 DDDaWJHﬂ)=§¥KLMDDDDDDDDDDD
3) aln, 1),aln, 2),aln, 3),aln,4) 0000aln, k) 000000

(4) B oooooae(l, k), a2, k), -, aln, k) 000000000000 0a(n, k+1) 0000000
oooooooo

B a,b000000000 f(x)O
flx) =ae*+be *
000000000 DD00000O0DO
(1) oo f(x)oOooOOOODO
(2) boy=f(r)O0OO0OO0OO0OOyYOOOOOOOOOOOOOOOOOOOOOOOOOO

(3) rzooooDODOO f(x)=1000000x20000000000 10000000 @, b000
0aebDOO0OOODOO

a,b000000020000
f(x)=1log(x?+1), glx)=ax®+b
00000000000000
(1) oo fx)oooooo y=f(x)D0ODO0D0OO0ODOO0OODODOOODOOOOOD
(2) boy=fx)0Dy=¢g(x)DDD0O0DOO0O0ODOO0O0O 200000000000000000

@)(DDDDDDDDD&Z%yb#ODDDDDDZDDDDnyQODyZQQQDDDDDDD
gooooooo

©OUoUD 00000000 O makoto



1990000000000 ooooo

O0000O

0°<6<90° 0000z 00000 20000

(1 —cos®)x? + 4(sin’@)x + (1 + cosf) =0
gooooooooooooa
(1) DoooOoO0OOO0D 1000000000 00000000000 0O0OOD
(2) DOoOooDODOO0-—-10000000000 A00DODO0O0DOO

Q 200000 a, 80000 a?+ B2=—aB,

(D gumu 0000000 DO0<O<K360°c0000
(2) e000OODOOOO

a’-f-,@‘ZBDDDDDDDDDDDDDDDDDDD

(3) DODODODOw, B, a+B, —ie, {000 500000000000000000000
B cooo @oooo

2
0224+ (y—1)?=3000 Pooooo yZ%-f—lIZI[ID[I 2000000000000000
00000 200000 Q ROODODODOODOO0DOD QROODDOODOOODOOODOODOOOOOOODOO
D000 POOOOODOOOOOOOOOOOO

- |DDDDDDDDI N

OO0
W% (BJooooooono
(2] (AJoo
(3] Doooooo
WE# (IDoooOo00D0000000

e

R

Cipyed

73—

UOOOO
WE# (IJ)oooooooo
B E4 (BJooooooood
B &% (BlJoooooooo

B (ID)oooo
\_ J

©OoooDoo0O00O0o00 0 makoto




od

1990000000000

$0000

a

(D
(2)
(3)
(4)
(1

(2)
(3)

(4)
(D
(2)
(3)

(D

(2)
(3)

OF = L(d+2f—¢)
goooo

10v3

50
3

E=1000 x,=k
k>2000

goood

1<x,<n (x,0000)

an,1)=1,aln, 2)=mn,aln, 3) = W
(n+k—2)!

(k=D n—1D!

aln, k) =

ooooo
2Jab
ooooo

a+ b<1

_ 1
bzaO0O b= ia
b<aODO a+db=1

nn+1)n+2)

aln, 4) = 6
da - p=g
1
1
2
10 1 1 a
2
at+b=1"

0000000000000 0D000000 a+b=1 <%§a<1> goood

ooo 0(x=0), ooo (—1, log2), (1, log2)

goooooono
b=0000 b=a—loga—1 (0<a<)

$0000

a

(4]

(D
(2)
(1)
(2)
(3)

r=—-2—4v3 (0=230)
45° < 6<90°

60 = 120°, 240°

la| =3

p=120000 ppo BEE

6=240° 000 Dmuﬁgiig

oooo @ooo
16 p+42, 0)

3 s

O©ODoo00D 00000000 O makoto



